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Today’s trivia question 

• If CERN traps 1 atom of antimatter every 15 

minutes, how many years would it take to 

trap a gram of antimatter? 

 













CERN’s Accelerator complex 

















Today’s trivia answer 

1 atom every 15 minutes 

 

Avogadro’s number= 6.022×1023 atoms in a gram 

 

1 gram = 15 minutes x 6.022×1023 atoms / 60 
minutes/hour / 24 hours/day / 365 days/year 

 

1 gram = 1.7186 x 1019 years 

      = about 10 000 000 000 000 000 000 years 

            = about 10 quintillion years (short scale)  

     = about 10 trillion years (long scale) 
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Upcoming Hangouts with CERN 

• Thursday 25 April, same time 17:00 CEST 

• Extra dimensions, with special guests  

Lisa Randall and Raman Sundrum 

 

• Thursday 2 May, same time 17:00 CEST 

• Multiplying dimensions, with special guests  

from TEDxCERN (http://tedxcern.ch/) 

 

http://tedxcern.ch/
http://tedxcern.ch/


For the latest news 

• CERN: cern.ch 

• plus.google.com/+CERN 

• twitter.com/CERN 

• facebook.com/CERN 

• youtube.com/CERN 



Participants 

Tara Shears, University of Liverpool, LHCb Experiment 

Niels Madsen, University of Swansea, ALPHA Experiment 

Rolf Landua, Education group, CERN 

 

Samantha Lam, Google Student Ambassador 
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Thank you for watching! 




